/2019 (1) (E1)

I. A is B's sister. C is B’s mother. D is
C’s father. E is D’s mother. then how is
Arelatedto D ?

(A) Daughter

(B) Granddaughter
(C) Grandmother
(D) Grandfather

!J

What is PSLV stands for, which is one of
the satellite launching vehicle of ISRO ?

(A) Payload of Satellite Launch Vehicle
(B) Polar Surface object Launch Vehicle
(C) Polar Satellite Launch Vehicle

(D) None of the above

\

:J where neN then A" is
1 0 1 0

ol @)

©) (l n] (D) [l 0
0 1

4. Manufacturing unit of He n
Motorcycle is located in w dispfict of

Haryana ? %

(A) Palwal
(B) Sirsa

1
3. IfA=(
0

n
*

5.
L (A) S (B) &
5<(C) * (D) #
6. The number of Municipal Corporation in
Haryana was
- (A) 10 (B) 11
. © 8 D) 9
H g ; +
PSS

(C) Faridabax&
In entsstartwith
sym

TR

L. ABH A CBHRALID CHmE
E D# T2, @ A, D F Felfea 2 2

(A) =&
AB) Urdl
(C) =w
(D) @lel
2. PSLV 1 &1 Haeid 8, A1 f% ISRO % 3unz
JEQU A & 7

(A) Payload of Satellitgdgaunch Vehicle
(B) Polar Surface 0 LaWrch Vehicle
& Polar Satelli Vehicle
(D) 39 H
3. A= S neN, d A" &
@1
0 1 0
(B) ( ]
Il n Ll

Wk

0 1 n 1

4. =i ER A R FH H HREH!
Fafaaazg?

(A) TEEE
(B) faw
,&) LTI
i~ gC sl
5. i, Fe___ FESEgEd
(A) $ (B) &
) * ®) #
6. e i Fo A A £ 7
&) 10 (B) 11
(O (D) 9

PR
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7.. An ancient temple Bhadrakali is situated in
the district of

(A) Rewarni
(C) Mewat

(B) Ambala
(D) Kurukshetra

In _wl)ich sorting algorithm, every adjacent
pau'.ls compared and swapped if they are
not in the right order ?

(A) Bubble Sort
(C) Selection Sort

(B) Linear Sort
(D) Insertion Sort

Which of the following Environmental
organization has launched the “clean seas”
campaign ?

(A) Ocean conservancy

(B) UN Environment

(C) Sea Web

(D) Blue ventures

10. First meter gauge commercial train ran on

which route ?

(A) Delhi — Rohatak

(B) Kurukshetra — Jeend
(C) Delhi — Rewari

(D) Delhi — Panipat

DN\

o
(q

The city was founded by Firoz Shah
(B) Hisar

11.
(A) Biwani
(C) Gurugram

Value of (‘ﬁ x ;) x i
(A) 35 &

(C) 4 (D) -2P

12.

In a certain Yaffguage, ‘sun shines brightly’
is written as ‘ba lo sul’, ‘houses are brightly
lit as ‘kado ula ari ba’ and ‘light comes
from sun’ as ‘dopi kup lo nro’, what code-
words are written for ‘sun’ and ‘brightly” ?

(A) lo, ba (B) ba,lo
(C) ba, sul (D) sul, lo

13

5/2019 (1) (E1)

7 @Wﬁﬁ?ﬂiﬂ?ﬁﬁﬁﬂﬁ!ﬁﬁ@a%?
(A) @i (B) &l
(C) mard (D) FHe
g g Sofio e |, TeF a1 I
gamafﬂmmﬁﬁaﬁﬁ%aﬁ%@
Wfl:ﬁﬁ%?
(A) TSI TH (B) tflash g
(C) FA™ THI (D) BEEZN
9. ﬁﬂ%ﬁaﬁ i fopm watao @
gz’ sfi g e
(A) aﬂ“aﬂ?:ﬁ:sﬁﬁ
(B) ’{Qq
(C) |
(D) 3=
L4 . N
10. vuH el 9 FEl ah
~ Ugd
(Bighoerd — Sfia
fagt - et
(D) fegt - uriud
1. RS e qrreteh & @It feha 1T TTET
(A) foarft (B TeEr
(C) TEIM (D) UHIId
12. (ﬁx?)x?+(px})x]+(ﬁxﬁ)xﬁ
l AT 7
(A) 3P (B) 0
(C) 4p (D) -2!3
O
13. U fAfTSd 9T H ‘sun shmes bng?ltly
‘ba lo sul’ ¥ w9 1 forar S7mar 2, ‘houses are
brightly lit’ 1 ‘kado ula ari ba’ %F\qﬁ%@
STt % 3 ‘light comes from sun’ &l “dopi
kuplonro FwH @ A g, T IS YT
/sun 3R ‘brightly’ %ﬁﬂﬁﬂ'@’ﬂ%"
(A) lo, ba (B) ba,lo
(C) ba, sul (D) sul, lo
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14. Pointing towards a girl in the picture, Sarita
said “She is the mother of Neha, whose
father is my son”. How is Sarita related to
the girl in the picture ?

(A) Mother (B) Cousin

(C) Aunt (D) None of these

Chandra X Ray observatory, is a flagship-
class space telescope of which of the
following space agency ?

(A) NASA

(B) Roscosmos

(C) ISRO

(D) None of the above

16. Which of the following satellite launch
vehicle (Rocket) of ISRO nick named as
Bahubali ?

(A) GSLV Mk III

(B) Scram Jet Engine — TD

(C) RLV-TD

(D) None of the above

17. In which year did Columbus reached the

|Illlllﬂlq|||
Wﬂw:rzﬁﬁmmmm,%
A 1 aw g1 £ ol B, o e g 0
et 1 ek @ % wafod 3wt o
(A) Wl (B) =91 wré,
(C) =rh (D) 748 @ 7

14.

=71 vag 1 Auanen, Foafafaa 4 4ty
e use 1 e st aoft £ ey
(A) NASA
B9 Roscosmos
(C) ISRO
(D) 39 q A

15.

16. ISRO %

7 Ficias A2EE 51 a% Tg 7

o

Island of West Indies ?
(C) 1492 (D) 14 «® 1492 (D) 1498
® .
18. Structure of Ni(CO), is 18. Ni(CO) Aiﬁ’l AT 2
(A) Tetrahedral \, (A)
(B) Trigonal planar (B) aHde
(C) Square planar i ) “AHdA
(D) Trigonalpyr ifb (D) Forgsfra faafigran
19. The Amper% s equation is given | 19, m-mmmmﬁmm
by 27
dog —dog
Edl=
dt (A) ¢ dt
d . dog
= HKole + Ko € _(%E- (B) é B.dl = pyle + 1 € _dt—
Q © §EdA=2
€ €o
0 (D) $BdA=0

o 18
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20.

! linear oscillator ? Given initially, the

21.

22.

23.

25,

What is the mechanical energy E of the

Block’s position is x = 11 cm, speed is
v = 0 and spring constant k = 65 Nm™".
(A) 0.79] (B) 0.111]

(C) 0.66] (D) 0.391]

The C# or Visual Basic compiler converts
your code into a special language named

(A) MISL (B) MMSL

(C) MSSL (D) MSIL

In a certain code language, ‘pen pencil’ is
written as ‘$?’, ‘eraser sharpener’ is written
as ‘@# and ‘pencil eraser’ is written as
‘¢@’, then what is the code for ‘pen’ ?
A) @ (B) ?

©) # (D) $

Choose the word which is least like@ther

words in the group. d

(A) Tomato (B) Gin \
(D) K@g&

(C) Carrot
B) 33

(D) 29

Complete the series.
1,850,513, 2152
(A) 3

©)

If Ais a3 x 3 non singular matrix and
|A| = 3 then |(2A)'| =

1 1
A = =
(A) 6 (B) 4

© +

7 (D) None of these

20.

21.

22.

5/2019 (1) (E1)
Yt 2fer Y #ifies e B 8 7 e

ﬁmﬁﬁ@ﬁlx:llcm%,ﬂﬁvzoaﬂ'{
o fRRT® k = 65 Nm™' 2 |

(A) 0.79] (B) 0.117]

(C) 0.66] (D) 0397

C# I 7 TERA FHHITET AT Fe
s foysre sy 3 wftafda e

(B)
(D\( L

FHedmd Bl
(A) MISL
(C) MSSL

‘%ﬁnﬁmaaa@wgﬁww%m

weet & Tad A faerd 2 |
(A) <HI B) 3L
(C) TSR (D) 3ATe]
ST U1 1T |
1,3,7,13,21,?
(A) 317 “®) 33
(C) 27 (D) 29
HﬁA@3x3ﬂaﬂUﬁa(nonsingu]ar)3ﬂE§%
AR |A|=3, W|Q2A)| =
1
@ = &ty
©) —1-1-2— (D) T 8 HIE TE

H
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26. If ‘Orange’ is called ‘Butter’, ‘Butter” is

called *Soap’, ‘Soap’ is called ‘Ink’, ‘Ink’
is called ‘Honey’ and ‘Honey" is called
‘Orange’, which of the following is used
for washing clothes ?
(A) Soap
(C) Honey

(B) Ink
(D) Butter

Which functions allow us to access a file in
anon-sequential or random mode ?

(A) write() and writelines()

(B) write() and read()

(C) seek() and tell()

(D) read() and readline()

27.

Who was the first Chief Minister of Haryana ?
(A) Devilal

(B) Bansilal

(C) Bhagwat Dayal Sharma

(D) Rao Virender Singh

28.

Sacchar formula was introduced in which
year ?

(A) 1948
(C) 1945

29.

(B) 1949
(D) 194

Which of the following is/arche g t
scheme (s) for the promoti SPOFts in
Haryana ?

(A) Provide training

(B) Build the spor

(C) Grant fo
(D) All of th

30.

insttlites

b

en@h of judges in Punjab and
i urt ?
(B) 38
(D) 58

Whatist
a

31.

(
©

Which of the dance is mainly performed on
the marriage ceremony ?

(A) Gugga dance

(B)" Gangor puja dance

(C) Ghodi dance

(D) Dhamal dance

<

00 T O
®I WG FEl 1R, I B wy
el 11 R, Tl i TER HET IR 3y
‘yrae’ A i’ ey sen 2, Pt 6 4
feparent 3ui a1 & foru forar sman @
(A) 9T Ly
(C) Ieq
HI-H1 He g1 Tk - a1 el
T H U WIS ook Uga ol STAfd a1 R 7

(A) write() and writelines()

(B) write() and rea
(C) seek() and t

(D) read() anM )

BT % =t =i o 7

(A) 3

(B)

Wigld 237l 3191
) Yo faiz fae

xawwﬁgn%aaéﬁm%mwm?

(A) 1948 ) 1949

(C) 1945 (D) 1946

EfEmT I Wl % WiedeT & fore S g
A § 7

(A) wfsreqor 24T

(B) W Lfeam sHamT

(C) uA HET3H hl 3 37

400 Zqia uft

gSTTel SR BRETOT 3= = i =i
TR ?

(A) 48 =B 38

(C)/68 (D) 58

e ey e e e R ST ?
(A) T Fed
(B) TR g1 T

2 =i T
(D) =9Tet Jex

26.

(D) WEad

27.

28.

30.

31.

32.
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33.

34.

35.

36.

37.

38.

In Python which data type is unordered and
mutable ?

(B) Tuples

(D) Sequence

(A) Mapping
(C) Sets

The volume of a Parallelopiped whose
co-terminal edges are the vectors
a=2i+j-3kb=i+j+2kand c=i-2j+3k
is

(A) 42 cubic units
(C) 32 cubic units

(B) 22 cubic units
(D) 12 cubic units

If a current loop carrying a current I, with N
turns and area enclosed by the currentis A,
then the magnetic dipole moment is given
by
I

A) m=NIA B) m=—
(A) (B) NA

N
©) m=— Oy 8

IA NI
Choose the pair of words that showsshe

same relationship as given by the

Cells : Cytology : : .

(A) Insects : Entomology

N
>

(B) Tissues : Morphology
(C) Diseases : Physiol
(D) Worms : Orni

When was See ayo@formed to decide
upon separatio jab and Haryana ?
(A) cfl®41 (B) January 1951
(C) May 19 (D) October 1965
If the data attribute of the class and the

method attribute are in same scope, then
the data attribute will be given

(A) no priority (B) higher priority
(C) equal priority (D) lower priority

=

-

)

33.

35.

7

38.

Lo

5/2019 (1) (K1)
qred i aya-ar sAfwgr v fsfira s
frered 8 7

(A) ft @7 =
(C) #HeH (D) fuaa

sk WAL Fqdst @1 3ada @ g e
He 2fifqer frnl & e S a=2i + - 3k,
b=i+j+2k3M c=i-2j+3k &7

(A) 42EAFHEA  (B) 229 gl
(C) 325 ZHEA (D) L2 W gahreal
afg u foga am N AT #
o ST 8 3 T @7 AR,
al ek A A R 7
1
(B) m=m
@) =L
NI
vreq g g S faw mu 7w g gwie T
ey & fe@md £ |
ﬁﬁm:ﬁﬁmﬁﬁrﬂ::
(A) e ; Frefam
(B) e : ATFAfAIH
(C) Tt : TRRfaR™
YT ST 6 e e g T, e UetTe 3N
B 1 21 F o o foren e 7
(A) fegat 1941 (B) SHadt 1951
(C) T% 1975 AT 1965+
afg a7 F = 3k fafy wdisge
HHH AT9hdT | &, 8121 Udiege
=1 fqu s |

(A) I mafierar =8 (B) 3= wrfiepdr
(C) guH wafirar (D) = wrafierar

H

ol
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39. Who was the first Speaker of Haryana
Legislative Assembly ?
(A) Shanno Devi
(B) Manphool Singh
(C) Kuldeep Sharma
(D) Eshwar Singh

40.  Choose the pair of words that shows the

same relationship as given by the pair.

Scalp : Hair : :

(A) Earth : Grass

(B) Fur: Cap

(C) Home : Cattle

(D) Nail : Nailpolish
41. Where is the Haryana Public Service
Commission located ?
(A) Panchkula
(C) Sonipat

Which one of the following is not a datab
management system ?

(A) dBASE (B) HexP

+() PostgreSQL| (D) S

ted in the

(B) Gurugram
(D) Panipat

42,

43. Lala Lajpat Raj activel i
Swadeshi andolan fr: \1% district ?
(A) Hisar Sonipat
(C) Rohtak & Panipat
4. O ic following subject both
U ate Government can make
laws °
(A) Concurrent list subject
(B) Residuary subject
(C) Union list subject
(D) State list subject B
H &2
! ¢
e e

41.

00 0 OO

39. efmon e o s afeer agd 9 o7 ?
SR UEIEE]

(B) Hget f&e

(C) eyl

(D) v fow

a8 ¥red I YT S e Te 3w g gwte o
Ty ) fewm € |

& are E 105

(A) 9=t : =g

(B) W : 2rdt »\

(C) T&:

gfamon 3T el o B 7
%
&w (B) TEmm

griud (D) UriTd

b. frafafaa & @ w9-1 & TeEy goum

et A § 7
(A) dBASE
(C) PostgreSQL

ATAT AT T A T3t Eeq 3 vy et
T Hfshy ' g Wi form o 7

e TEOT (B) @rfiud

(C) Usaw (D) 9T

Fr=fafiaa & 9 fre v w S st o
TR ST T 941 Gohd & 7

(e wmarelt wsh for

(B) 3rafime fauy

(C) g g=h fawm

36) TS = fawy

«B) FoxPro

(D) SAK

43.
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45. Which of 'thc following space agencies | 45. A e fiem | Frafafiaa # @ FH-H
involved in BepiColombo mission, an mﬁaqﬁzﬂmﬁa%,@mﬁlﬁﬂmﬁﬁﬂ
unmanned spacecraft carrying a two probes T 7
into orbit of Mercury ? g maﬁaﬁmﬂﬁ&ﬁgﬂﬁ%%ﬁémﬁ '
(A) ISRO and NASA (A) ISRO 3 NASA -

(B) European and Japan space agencies (B) z{ﬁﬁ'ﬂﬂ 3R ST 3 E,”m T li,él k o
(C) NASA and European space agencies (©r NASA 3?!'( z@ﬁzﬂ siafi et
(D) None of the above (D) Iuir § B T

46. In 1984, which of the following is Haryana’s | 46. 1984 i gfemon #1 @ dAFiE fhen
most famous film whose song is most ﬁﬂ'ﬁ"l%ﬂﬁﬁﬁ?—m iﬁ,ﬁ'ﬂa’»fﬁa'ﬂﬂm
popular ? yaferd & 7
(A) Lado (B) Chandrawal (A) @l <7
(C) Dhan Paraya (D) Lambardar (C) 4 9 (D)

47. Beej Bachao Andolan (save the seed) was q7. M= eI S CAC] BAT ?
initially started in A) Yo T
(A) West Bengal ) ~iar
(B) Uttarakhand ®) -

(C) Bihar (©)
(D) Madhya Pradesh %

48. In Narnaul area which State is border 8 3 i 3 o s o e et

from three sides ? ?

(A) Punjab . (A) 9SE

(B) Madhya Pradesh (B) A4 |
(C) Rajasthan ¢& TSTEH
(D) Uttar Pradesh (D) 3™ o9

49. If o means +, 3 mea means X, 49. aﬁaaﬂaﬁh,ﬁmaﬁ-,ywmﬁx,eaﬂ

0 means = then 3Q.0°1 10 B 20 is a4 ~dq130010y50 10B20%
(A) 5 15 A5 (B). 15
©) (D) 10 (C) 3 (D) 10
50. A non emptyBubset H of a group (G, #)is | 50. THEE (G, ) Hl At e HE,

said to be ¥ subgroup if

IR el Sl 8, A(e

((3 EQG tative and associative 1 (APHEE
ommutative and associative laws
hold in H B) fafim oA A Hde

(C) Hc Gand (H, #) is a group
(D) None of these

(C) Hc G 3R (H, +) ThEE?
(D) T & H1E &

9. H
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S1.  Study the diagram given below to answer

the following question.

AN
7

The triangle in the above figure depicts
women in villages, the square depicts the
unemployed women and the circle depicts
the educated women.

B

Educated employed women in villages are
represented by
(A) F
(C) D

(B) G
(D) E
52. In which year Punjab high court shifted to
Chandigarh ?
(A) 1957
(C) 1955

(B) 1958
(D) 1956

Which one of the following i
regard to Mahayana cult of

(A) They refer as greater Pehic

(B) Worship of Buddha’ N{ as an
important tradition is cHlt

(C) Original fonowf§raucd lower
vehicle

All the a

&i h should have highest
abhas ?

(B) Gurugram
(D) Panipat

The value of A for which the homogeneous
systemAX+y+2=0,-x+Ay+z=0,
— X —y + A = 0 has non trivial solution is
(A) 3 (B) 0

© +3 (D) -3

55.

-10-

O

51. ﬁw%%ammw%ﬁ%%qﬁﬁqm
HET F1 TG F1 |

A
° /6 Jg) D\

/

B

S9UF ATFfa § Brepror wiat § wfyensi 5
IS & | &t afeerad =izt 3
37 39 farfama 37T 1 T 2 |
e A g -1 a3y
gYTaT 8 ?
(A) 77
©) (D) E

5 S Gt 3 e e i et

\(A) 1957
;7 (C) 1955

1958
(D) 1956
53. g 9H % 9EEE Uy F gay § fefeiaa &
TFE-T TR ?
(A) 3 FER 91e9 F1 gehid &g &
(B) T 1 BT 1 I5i1 38 92 il 0 Heeaqyi
g off
(C) STI=ieh STl %l = e T STt 41
=) I |l

54. form foret 5 o | i e Tad st B

=ifeg ?
o« far (B) T
(©) FE= (D) dHgd

55. Ammm?ﬂ’nﬁiﬂ%ﬁ—mmm

Xx+y+2=0,—x+ky+z=0,
~X-y+A=0ATBEAHR ?
(A) 3 (B) 0
© +/3 (D) -3
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56. In database, a relation means a

| (A) Tuple (B) Table
(C) Domain (D) Key
x 3 7
57. Ifx=-=9isarootof {2 x 2|=0,then
7 6 X
the other two roots are
©) -2,7 (D) 2,-7
58. EDTA is ligand.

(A) Hexadentate

(B) Tetradentate

(C) Monodentate
(D) Bidentate

59. In a code language, SOLID is written as
WPSLPIMFHA. What does the code word

ATEXXQIBVO refer to ?
(A) EAGER (B) WAFER
(C) WATER (D) WAGER

60. Which of the following plants"s es
at Baholi in Panipat ?
(A) Oil refinery (B) Eer r
(C) Sugar (D) men

61. Intersection of 2 su g% group
(G, *)is

(A) asubgro,
(B) group

e
n E

62. Who wyote the book Amuktamalyada ?
(A) amudragupta
(B) Pulakeshi
© Krishnadevaraya
(D) Chandragupta

bgroup of G
pof G

not

58, EDTA _____

(D) @W@
59. T ﬁﬁaﬁa

5/2019 (1) (E1)

56. SEEEH, um}auammi%

(B) &
(D)

(A) S
(C) BmA

x 3 7
57, ufz |2 x 2|=0WTHETHx=-9 7,

7 6 X

A e A A R
(A) 2,7
©) -2,7

(B) —2,-17
(D) 2,-7

&
D

(A) T EIH
(B) =d: &deh
(C) Thadh

SOLID Wise &l

WPS Apd & T HhATH T
T 1 e L €L
BVO T 1 7158 ST 2
AGER (B) WAFER
) WATER (D) WAGER

e T T (B) I
©) ¥ : o e

61 @gﬂg(s,*)ﬁszzw@mqkéﬁm%?
(A) G &1 398He

(B) wgéﬁﬁ(immr{gqﬁ%
(©) G 1 TS T
(D) T AR T

62. mwﬁaﬁ%@%?
(A) TSI
(B) 33%3“
(D) <=«
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63.

64,

65.

66.

67.

68.

If X +9, X~ 6, 4 are first three elements of | 63. T x +9, x — 6, 4 U 20ft = o i e
GP then x is g x?

(A) 0,0 (B) 16,16 (A) 0,0 (B) 16,-16

(C) 0,16 (D) ~16,0 (C) 0,16 (D) -16,0

Which is the correct reason for the outbreak 64, fta 94, 1 fearfd & wehra 1 921 HA

for the situation of cold war ? FH-a1 8 7

(A) Invasion on Pearl Harbour by Japan (A) STIHE g Te Bre 9T 3R

(B) Emergence of USA and USSR as rival (B) whrEd wifFl B ¥ arafE s
(&) gm; P f axis f in the II World i

efeat of axis force in the or : ~
War T @ for '\p H e
(D) Bombing on Hiroshima and Nagasaki (D) SR ATTE T
by USA

If x — 2, x, x + 3 are first three elements of |  65. , X+ 3{[“?!?!"( gt & wom o= ded
GP then x is

(A) -6 B) 6 (¢ B) 6

€ 6 (D) 0 # ) 6 ) 0

Haryana’s historic grand tom O; 66. e = Ut wer wee fara forem w
in which district, which is asSociat i 2, S g e fagiag ?

Shekh Chilli ? x -

(A) Kurukshetra (B 1 G :5 ﬁaﬂ .(B) &t

(C) Nunh (D) al (C) T8 (D) Yedd

Who is the pre f PepsiCo ? 67. ufda! (PepsiCo) % aduM CEO % 8 7
(A) Indra & (A) 3

(B rta A2 T et

( ’Narayen (C) maq FH

(D) Nong/of the above (D) 39U | ¥ i3 T8

By which Amendment to the Constitution the | 68. @faer # form Gt g0 gufa & sl
right to property v\{as removed from the list P Hﬁ?ﬁﬁﬁfzﬁﬁ a1 oy T o ?
of Fundamental Rights ? . . \
(C) 44" (D) 46" (O 444 (D) 464

128
A

000 lllf (]
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6‘ h ) ’ 1 4
!' W O lhe Won]cn S Slnglc lcnnlS lll‘
won ¢ at

the 2019 Wimbledon Championshipg 2 69. zm()ﬁam‘?}ﬁuqfvm \}5/2019 (1) (E1)
(A) Petra Kvitova : ﬁgmﬂﬁh‘{ﬁ Sfren 7 R R
(B) Vinus Williams (A) g1 e
(C) Serena Williams B) =g fferr
(D) Simona Halep - T faferny
(D) e gy
70. Langmuir isotherms holds at low Wmﬂﬁ
pressure 70.
but fails at EERIE DI E TR o
- e wa g |

(A) Low temperature

(A) " T
(B) Intermediate pressure (B) weHadl g \

(C) High pressure (C) I=aTE
(D) None of these (D) FHHA
71. Chaudhary Devilal Herbal Park is situated eI RRY?
in the district of g
(A) Mewat (B) Panipat (B) ]
(C) Rewari (D) Yamunanagar JD) FLAETR
72. Name of the lake which is famges f e o fem we % for wfts #ia = =

AHE 7
(A) GeaAR#A  (B) Ao Fi
©) weEEde @) T

tourism in Karnal. ‘
(A) Sultanpur lake (B) THliyar
(C) Barkhal lake (D) ak

73. Complete the series. % 73. @l ot T |

19, 23, 26, 30, 33, ?
Y U

19, 23, 26, 30,%' !
(A) 37 & B) 39 @& 37 ®B) 39
“b " (D) 35 ©) 31 D) 35

: ; I A= =3
74, If each of fhe letters in the English alphabet | 74. isht aofaren aa‘xas s A=1B
S T STE 3T e T M

is assigned odd numerical value beginning
£

A= LB =3andso on, what will be the total for e, 3758 INDIAN  2F8F0 1 30
value of the letters of the word INDIAN i 1 B ? o
(A) 89 - (B) 96 (A) 89 .

C) 86 :

D) 88 (

(C) 86 ( -
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5/2019 (1) (E1)
English Language

Choose the correct indirect form of the
following sentence from the given options :

75.  He said to me “What are you reading” ?
(A) He asked me what I am reading
(B) He asked me what I was reading ©
(C) He said that what am [ reading
(D) He said that what was | reading

Choose the part of the following sentence
which has an error -

76. Neither of the IWO men were very strong.
(A) Neither of the two
(B) Of the two men were
(C) Ofthe two men
(D) Noerror -

Select one word substitute for the following :

77. “Gainor profit over and above one’s salary
or wages’.
(A) investment

(B) surplus
(C) perquisite

(D) turnover
Select the synonym of the word in capital :

78. ZEAL
(A) brave
(C) increase

(B) soft
(D) enth

*
Fill in the blanks with suitable prepositign
79. He was here ei(&*
ded

last

(A) on (B) et
Fill in the blanks with riateWford from
the optibns -

80. We

& d noise during last
night.
(A) € W p (B) were waking up

NIRRTy
fo=dt wran

83. ‘mr’ vrem EEER:R ok b
(A) &ga=1 .
AB) A S sger A A
(C) THha=
(D) fga=m ’

84. ‘a1t @ gy fomr /AN
Treq % felU Jerr 2 |
(A) HEar=g (B)

(C) Fdar=g (D) G

8. T+ =
(A) 99319
(C) =tz % a

(F) Fory O(»;ﬂ) F 1 S
(@) freen( (=) 39 i1 s
(1) 7531 N (3) B1eht ey
(PN ® N\ _(3) Foft =
S| A ) T T S

S @ (M) (@) (o)
LA B S| N
%) ER- - g

(C)3413?33.
Mz &1 3 ¥ g

87. Ay ez v ool 2
(A) Tt vt Srr Bt
(B) S 9&S # o 7 51 8
(C) et srgd gon e &
(D) ah‘e’éaaﬁq‘s”fgan%ﬁ

88. %rgﬁz‘r@m%%aaw\m%
SRR |
(A) HFds (B) foerd=s
(C) 37w (D) =r$ 78

89. ‘agaméi%’weam__ﬁmmm%l
(A) ferd= _
(B) H#FH% 3R a1ais 2

(C) Fod=
(D) s
9. ﬁm%r{ 39 152 1 3ugf 2 e
(A) (B)
~c) fa (D) fam

) (D) are woken up

81. Mr. Mi sn’t like waiting.
(A) kept (B) 1is kept
(C) keep (D) being kept

82. Youcan't stop me what I want.
(A) todo (B) thatIdo
(C) doing (D) do
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